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IParticipant 1D

Participant Name

Test Center Name N )
Test Date 17/12/2023
Test Time 4:30 PM - 6:30 PM
Subject JE Mechanical

Section : General Knowledge

Ans o 1. aifcad
X 2. @
X 3. Frfcerd
25 4. urforf

Q.1 Yy U<pd HETehTed "AATIOT" T ST FfY <l fEgm simar &:

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option :

630680518193
6306802025169
6306802025168
6306802025171
6306802025170
Answered

1

Ans o 1.7
X 2.V
X 3. geeft
X A sEng

Q.2 7 TR &Y, WG A siifeem h de R

qafYe AfefEes fAarss &1 awa wdaror fran

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option :

630680518197
6306802025186
6306802025184
6306802025185
6306802025187
Answered

2




Q.3 MIRA T i AT I Mot IgAf & we 3ea & forg fagie su @ ufRrg @2
Ans X 1.3@H

X 2. IR U
o 3. TERTY
X 4. feEr
Question ID : 630680518189
Option 11D : 6306802025153
Option 2 ID : 6306802025152
Option 3 ID : 6306802025154
Option 4 ID : 6306802025155
Status : Answered
Chosen Option : 3
Q.4 WIRA A RIS Y Sie & ggeh 31U AR Y Tgraer & forg sifaeq ______ = fopam|
Ans X 1.3uifae
o 2. 35T
X 3. fasw
X 4. Rfesw
Question ID : 630680518196
Option 1 ID : 6306802025183
Option 2 ID : 6306802025180
Option 31D : 6306802025181
Option 4 ID : 6306802025182
Status : Answered
Chosen Option : 2
Q.5 fger epr 734t G frr @ Gefaa g:
Ans o 1. T IS TR
75 2. frear 7 smReror
X 3. aet-aed faRied s
X 4. fAstar &1 sifdieR
Question ID : 630680518199
Option 1 1D : 6306802025192
Option 2 ID : 6306802025193
Option 3 ID : 6306802025195
Option 4 ID : 6306802025194
Status : Answered

Chosen Option :

1




Q.6 The first successful test of an atomic bomb took place during World War Il as part
of the:

Ans X 1.Project Blue Book
75 2. Operation Overlord
%" 3. Manhattan Project
X 4. Trinity Test

Question ID : 630680518195
Option 1 ID : 6306802025178
Option 2 ID : 6306802025176
Option 3 ID : 6306802025177
Option 4 ID : 6306802025179
Status : Answered
Chosen Option : 4
Q.7 fa= R A & fAQ SR w=ilvrge &l fiA & ur=it A fAerar siran @:
Ans X 1.%hdl
X 2. 3R=hdAT
o 3.3 e
X 4 g@Erdm
Question ID : 630680518191
Option 1 ID : 6306802025160
Option 2 ID : 6306802025163
Option 3 ID : 6306802025162
Option 41D : 6306802025161
Status : Answered
Chosen Option : 3
Q.8 afl wxerR o1 @ea enfdes faerTe ot argTan 31 &, ot g Uah Asten g Hife ey st i
TUTeAT @ g foaw anfae &:
Ans X 1. R HH HAT 3R G HH AT
o 2. X AT SR @ FrT
72X 3. R IgMT 3R W HH AT
X 4. 96d R R Fear @d
Question ID : 630680518190
Option 1 ID : 6306802025158
Option 2 ID : 6306802025159
Option 3 ID : 6306802025156
Option 4 ID : 6306802025157
Status : Answered
Chosen Option : 3




Q.9 J3i=HT 9NR fohy a2 STt ferta @ fgwar 82
Ans X 1.cf&or dF TR

o 2. fee AgrmR
X 3. S Hr @S

X 4. 3RE 9FR

Question ID : 630680518192
Option 11D : 6306802025165
Option 2 ID : 6306802025167
Option 31D : 6306802025166
Option 4 ID : 6306802025164
Status : Answered
Chosen Option : 2
Q.10 SieRfea qa1 SIw (IMF) @1 qrearea 3 fea é:
Ans X 1.9R™
o 2. afime et
X 3. fFar
X 4. =garh
Question ID : 630680518194
Option 11D : 6306802025174
Option 2 ID : 6306802025172
Option 31D : 6306802025173
Option 4 ID : 6306802025175
Status : Answered
Chosen Option : 2
Q.11 HIRA 319 "HHEATT T VU Thet & forg TR & - Frad Iueet uger Ar-agh gaget anfae g1
T T gl ST 872
Ans & 1.79-6000
X 2. 91f=-6000
X 3. 96000
75 4.91-6000
Question ID : 630680518198
Option 11D : 6306802025191
Option 2 ID : 6306802025188
Option 3 1D : 6306802025190
Option 4 ID : 6306802025189
Status : Answered
Chosen Option : 3




Q.12 U3 &y forg Be1 @ Gafda @2

Ans

X 1.
X 2. foRche
X 3. el
o 4. M

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option :

630680518200
6306802025196
6306802025198
6306802025199
6306802025197
Answered

1

Section : Numerical Ability

Q.1 &
72 3 84 & forr JrET gUT AT W
Ans X174
<2 80
3 98
<4 96
Question ID : 630680518205
Option 1 ID : 6306802025217
Option 2 ID : 6306802025218
Option 3 ID : 6306802025216
Option 4 ID : 6306802025219
Status : Answered
Chosen Option : 3
Q.2 ofz so e ufafed 2.5 ue wF = 15 Rl & & qu wE & ar 25 e vl 18 9w
TR SE F B QW G F Rhaer gET SEre
Ans
X118 fem
X219 faa
X316 &7
v 417 fea
Question ID : 630680518208
Option 11D : 6306802025228
Option 2 ID : 6306802025230
Option 3 ID : 6306802025229
Option 41D : 6306802025231
Status : Answered
Chosen Option : 4




Q.3 wr Trg & 3ifeeT HET W 22.5% & G & & d1G, W 2 1395 H I o ¥ SWe e Hqew AT

HLl
Ans 1. F 1800
X2 7 1500
X3 % 2200
X 4. % 1400
Question ID : 630680518202
Option 11D : 6306802025205
Option 2 ID : 6306802025204
Option 31D : 6306802025207
Option 4 1D : 6306802025206
Status : Answered
Chosen Option: 1
Q4 o Iae Fr == 1.4 om & 3R sHE IS 616 o &, Ao HT TS w2
Ans  X'1. 80 cm
/<285 cm
+ 3. 100 cm
X 4102 cm
Question ID : 630680518209
Option 11D : 6306802025233
Option 2 ID : 6306802025234
Option 3 ID : 6306802025232
Option 4 ID : 6306802025235
Status : Answered
Chosen Option : 3




Q.5 T ow 5 ewr-e REredt # T dogedt & T @ e & e po# rnfg st

T @ e T F e Fogedt i T= § e A9 F

=

Rl it T

~5888E84288

155

877
632
372
255 I
P Q R s

Ans X' 1.51: 29
o 2. 51: 31
X3.5: 3
X4 47: 49
Question ID : 630680518211
Option 11D : 6306802025242
Option 2 ID : 6306802025243
Option 3 ID : 6306802025241
Option 4 ID : 6306802025240
Status : Answered
Chosen Option : 2
Q.6 arfeem 5 3reeT-3eT gl IR A I AR A pE G s ¥ W 5 g g 4 g i A
T FET T P
e 1 T FRA
Eakstea
H 5542
I 7899
1 9876
K 9642
L 8613
Ans 1. 41,572
X2 57,225
X 3.39,444
X4 42,765
Question ID : 630680518210
Option 11D : 6306802025237
Option 2 ID : 6306802025239
Option 31D : 6306802025238
Option 41D : 6306802025236
Status : Answered

Chosen Option :

1




Q.7 1 zafF 756 m S HE @ 36 s F UR FAT & km vl w9 F zHA arfa ¥
Ans  X1.80.6 km/hr

X2 76.4 km/hr

X3 84,3 km/hr

4 75.6 km/hr

Question ID : 630680518207
Option 1 ID : 6306802025226
Option 2 ID : 6306802025225
Option 3 ID : 6306802025224
Option 4 ID : 6306802025227
Status : Answered
Chosen Option : 4
Q.8 wifd & r ot swF Taww qeu & 7/10 W e 3N 3F zOF 77 T FqeT ¥ 20% #7e W AT
2 sHe w1 ufdes || &1
Ans 1. 71.42%
K2 66.24%
X3 70.5%
X4 77.3%
Question ID : 630680518204
Option 11D : 6306802025215
Option 2 ID : 6306802025213
Option 3 ID : 6306802025214
Option 4 ID : 6306802025212
Status : Answered
Chosen Option : 1
Q9 Ffy gerue 3R 2 T & FUROT @S & IGU 15:1 & o ;S R AT B
Ans 1. 3.33%
X2 5%
<3 425%
K4 6.37%
Question ID : 630680518206
Option 1 ID : 6306802025220
Option 2 ID : 6306802025223
Option 31D : 6306802025221
Option 4 ID : 6306802025222
Status : Answered
Chosen Option : 1




Q.10 o o% 5 R F FEEr 3w Ay @i B FEE B e ¥ gUAR @ A e g sl dr dear
T FAIR AR FAR B AT FE AT A B T G AT HL

E 1m0 1577 s
# 1600 1490
4z 1400 1245 1302
5 1200
. s
E 800
600
E 200
200
‘E 0
FHEaR ATHER qUER TR YFR
s
Ans X' 1.87: 50
« 2. 83: 200
<3 83: 100
K4 4. 5
Question ID : 630680518212
Option 11D : 6306802025247
Option 2 ID : 6306802025244
Option 3 ID : 6306802025245
Option 4 ID : 6306802025246
Status : Answered
Chosen Option : 2
Q.11 : .
UF HEAT &l 22% § a3 U 2318 WIH 0T &1 §&a1 |19 &)
Ans X 1. 1700
X< 2. 1800
#3.1500
« 41900
Question ID : 630680518203
Option 11D : 6306802025211
Option 2 ID : 6306802025210
Option 31D : 6306802025209
Option 4 ID : 6306802025208
Status : Answered
Chosen Option : 4




Q12 25} Frmat @ Teaw TATASE 41 ¥ AR e 3R 82 ¥ TEw @na &

Ans

1 287 HT 369
X2 250 3R 300
X3 255 3T 350
X417 3T 144

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option4 1D :

Status:
Chosen Option :

630680518201
6306802025202
6306802025203
6306802025200
6306802025201
Answered

1

Section : General Aptitude/Reasoning

Q.1

Ans

AT # ¥ Fi9 T 39-3MT F991 & T F T F TEr e F g2ar g?

&er, Torem, g

x 2

O

ONC©

Question ID :
Option 11D :
Option 21D :
Option 31D :
: 6306802025309
: Answered

Chosen Option :

Option 4 ID
Status

630680518228

6306802025311
6306802025310
6306802025308

1




Q.2 A B3R C % Iaa & o 6: 7: 11 §1 TG C & A & T 755 1o f&ear §, & B &1 da+ (390

) e 2
Ans X1.7 1360
x 2.z 1520
3 % 1057
X4 1100
Question ID : 630680518225
Option 11D : 6306802025299
Option 2 ID : 6306802025297
Option 3 ID : 6306802025296
Option 4 ID : 6306802025298
Status : Answered
Chosen Option : 3
Q.3 =w wmE-wE A Rw oo ¥ OF @ O B BT 7% @ e €k o B d e an
THE A H 9T F
Ans X1 cCG
v 2 FG
X3 BH
X4 DF
Question ID : 630680518215
Option 11D : 6306802025258
Option 2 ID : 6306802025257
Option 31D : 6306802025256
Option 4 ID : 6306802025259
Status : Answered
Chosen Option : 2
Q.4 #my R TAg ¥ TaE e @ 9Uw wY S I TR ¥ ua § O ueR ¥ gm R meg
TEe 3N FAE § FEfOT g
SERVICE : ECIVRES :: DOCTOR : ?
Ans 1. ROTCOD
X 2. ROCTOD
X 3. ROTOCD
X4 ROTCDO
Question ID : 630680518216
Option 11D : 6306802025263
Option 2 ID : 6306802025261
Option 3 1D : 6306802025262
Option 4 1D : 6306802025260
Status : Answered

Chosen Option :

1




Q5 AcCcHRmEamCmm a8 B, CH I F AH =81 G CHam HI E G

97 ¥ H, G # o=t #1 H & of% =7 far a7 §2

Ans o 1. A
X2F
X3 C
X4 G
Question ID : 630680518222
Option 1 ID : 6306802025285
Option 2 ID : 6306802025284
Option 3 ID : 6306802025286
Option 4 ID : 6306802025287
Status : Answered
Chosen Option : 1
Q6 Crfafea s@er & goF REw (7) F T W BT @ HER @ wRe?
F,H J, L N,?
Ans X9 M
w2 P
X320
x4 Q
Question ID : 630680518214
Option 1 ID : 6306802025255
Option 2 ID : 6306802025253
Option 3 ID : 6306802025252
Option 4 ID : 6306802025254
Status : Answered
Chosen Option : 2
Q.7 B "
TUH 29 I TEATHT FH TET T AT FL|
Ans 1. 8555
< 2. 9565
< 3. 7255
< 4. 8525
Question ID : 630680518227
Option 1 ID : 6306802025304
Option 2 ID : 6306802025306
Option 3 ID : 6306802025305
Option 4 ID : 6306802025307
Status : Answered

Chosen Option :

1




Q8 R v wHEETT B TE TR ¥ BT e o REd e eeeT TR

Ans

15 +21 +7 x5-49 =1
Xl x 3T =
X2 =37 +
v’3-+3-ﬂ'\l'x
X4 x 3T =

Question ID : 630680518226
Option 11D : 6306802025300
Option 21D : 6306802025301
Option 3 ID : 6306802025302
Option 4 1D : 6306802025303
Status : Answered
Chosen Option : 3
Q.9 The question consists of two statements Assertion and Reason. Choose the correct option.
Assertion (A): Blood group O is a universal donor.
Reason (R): Blood group O contain antigens.
Ans 1. Als true but R is false
X 2. R is true but A is false
X 3. Both A and R are true and R is the correct explanation of A
X 4.
Both A and R are true but R is not the correct explanation of A
Question ID : 630680518223
Option 1 ID : 6306802025288
Option 2 ID : 6306802025289
Option 31D : 6306802025291
Option 4 ID : 6306802025290
Status : Answered
Chosen Option : 3




Q.10 v Frerer @ S R@e sgEr Fwr A FEr s @es WA S s g

i — =T
! i 4 Lo
A | Y1
' | |4
. L__ I
Ans ﬁ}
X1
X 2.
o 3.
X 4.
Question ID : 630680518230
Option 11D : 6306802025319
Option 2 1D : 6306802025318
Option 31D : 6306802025317
Option 4 ID : 6306802025316
Status : Answered
Chosen Option : 3
Q1 GreffRa & @ FiF T 3R TEg & T8 4Ter § T FEA (?) F Sawnig se?
BDF, FHJ, JLN, NPR, ?
Ans X 1. RTU
X2 TUV
X3 STV
v 4 RTV
Question ID : 630680518213
Option 11D : 6306802025248
Option 2 ID : 6306802025249
Option 3 ID : 6306802025250
Option 4 ID : 6306802025251
Status : Answered
Chosen Option : 4




Q12 =7 sl &1 o= S TrTaEE AF gEer # o REw (7) ® e e

N T
K| |7

x| —

Ans

N

W 3.

X 4.

ol | B

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option :

630680518229
6306802025312
6306802025314
6306802025313
6306802025315
Answered

3

Q.13 ws AT F15 & H, 'pp tt rr mm'F HF ¥ 'Her dress looks elegant.; 'yy nn tt' & e &
'Gorgeous red dress.’; Yjj hh nn dd' & 3187 & 'The rose is red.', 'Gorgeous' & o7 &g T 272

Ans o 1. W
X 2.t
A3 nn
X 4. pp

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option :

630680518217
6306802025265
6306802025267
6306802025264
6306802025266
Answered

1




Q.14 Ina certain code language, if UNICORN is coded as 2IN9C15RN, ELEPHANT is coded as SLSPHINT, then what will

AEROPLANE be coded as?

Ans 1. 15RI5PLINS
X 2. SRISPLINS
X 3. 151R5PLINE
X 4 15R51PLINE

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option::

630680518219
6306802025273
6306802025272
6306802025274
6306802025275
Answered

1

Q.15 afy smwg #r F7 Far o §, FE A WA P T E, Ty F T BT FT T, FTF FE H AT

w1 7 g, af eeafefEa # F #la w e o 82
Ans X 1. HFTE

X 2 3T e
¥3.ﬂa’

X 4 Fr
Question ID : 630680518220
Option 11D : 6306802025276
Option 2 ID : 6306802025279
Option 31D : 6306802025278
Option 4 ID : 6306802025277
Status : Answered
Chosen Option : 3
Q.16 ww fFaa #is oor &, afg DESIGN &I NGISED % &7 # #IT3d foar arar &, DEVIL & LIVED &
w7 ¥ FifEgg fomar 7@ &, & CLOUD +r &1 =ifEg fomam smoem?
Ans X 1. DOULC
X 2. EUOLC
<3 CGYHH
« 4 DUOLC
Question ID : 630680518218
Option 11D : 6306802025268
Option 2 ID : 6306802025269
Option 31D : 6306802025270
Option 41D : 6306802025271
Status : Answered
Chosen Option : 4




Q.17 aim =@F E, F, G, H, 31K | v o7 Afer soma # =3 §) o@w 1 ¥ Fifea &, 385 8% 5 #
Ao & 2 ¥ FATRT ¢ 3 =8 oXE T9E 399 AT 9% §CA 5 ¥ FAMST &1 E F I Fa4 I
9T W@ 1 H, E F 3% 3 W g1 | U WH TEA e At 9T @ 21 F, | F 3 A @ 2l

H & &% F9T &I Igar 27

Ans X9 F
X2 E
X3
4 Q
Question ID : 630680518221
Option 11D : 6306802025283
Option 2 ID : 6306802025281
Option 3.ID : 6306802025282
Option 4 ID : 6306802025280
Status : Answered
Chosen Option : 4
Q.18 . . . .
&r 9% TEIrHt # ¥ AvH gEwr T w9 F:i
Ans X 1. 555
2126
X 3. 253
X 4 663
Question ID : 630680518224
Option 11D : 6306802025295
Option 21D : 6306802025292
Option 31D : 6306802025293
Option 4 ID : 6306802025294
Status : Answered
Chosen Option : 2
Section : General Science
Q.1 "fr=fafEad @ fora wwg & dhaa Saf~=iawoiia awgud §?
(a) °TY, HUTH IR TSI
(b) 3, AR AR wITfRE
(c) weit & fderch, hep o uTg & fE=at
(d) 1T, @TE 31 hep”
Ans X 1.a,bsdfRc
o 2.a3Rd
X 3.a,c3Rd
X 4.Faed
Question ID : 630680518247
Option 11D : 6306802025384
Option 21D : 6306802025386
Option 31D : 6306802025385
Option 4 ID : 6306802025387
Status : Answered
Chosen Option : 3




Q.2 fy=fafEa#d @ &= a1 vafazor-sgge srare gt 82
Ans X 1. Thd UISiaRe o ol GIdRhT GEuT &l SUFNT heAT
X 2. WIER) TR T 9 @A & [l a1 e a1 7@
X 3. 3FTaLTd oge, Tl ofik U dg e &
o 4. Ficisl ST o forg ufafes ges Tdiaw Atser BMW TTTEt IermT

Question ID : 630680518248
Option 11D : 6306802025390
Option 21D : 6306802025389
Option 31D : 6306802025388
Option 4 1D : 6306802025391

Status : Answered
Chosen Option : 1

Q.3 vz ufdre ufaferar Sake Y sufefa & gqof sd+ta & eru ufaferar awdh _______ ar g,
Sit 3 iR wR HE Ty a1t ueref gra g1

Ans X 1.4Ur
o 2. TR
X 3.8R
X 4. 99%

Question ID : 630680518241
Option 11D : 6306802025361
Option 21D : 6306802025362
Option 31D : 6306802025363
Option 41D : 6306802025360

Status : Answered
Chosen Option : 2

Q.4 uf¥feret & sier Iaa Uah AoTgg geachida &1 1 IualT -1 &g 4 geahra arh & gnd &t
Hafha #e3 & forg e o weran 8, o7a 5@ sifge & Sig w@r wiran & foed ______saar @1

Ans o 1. U fagd g
X 2.U% &g g9
X 3. U g uRuy
X 4. ua faga aRuy

Question ID : 630680518236
Option 11D : 6306802025340
Option 2 ID : 6306802025342
Option 3 ID : 6306802025343
Option 4 1D : 6306802025341

Status : Not Answered
Chosen Option : --




Q.5 #ida @ FayHis Far g?
Ans o 1.-162°C

X 2.-90°C

< 3.351°C

X 4.209°C

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option :

630680518239
6306802025353
6306802025352
6306802025355
6306802025354
Not Answered

Q.6 IS HUFT & &g & SR, S HIa AlfIF Sga AR PTA Y& F aa ______ ar e &t &
Ans X 1.9
X 295
o 3.t
X 4. Tthg
Question ID : 630680518240
Option 1 ID : 6306802025359
Option 2 ID : 6306802025357
Option 3 ID : 6306802025356
Option 4 ID : 6306802025358
Status : Answered
Chosen Option : 3
Q.7 ugHT ST Tl ugelt Gerka ______ ot, O pealer & STehR1R J ST wRATY af®d gia
gl
Ans o 1.C-60
X 2.c42
2 3.C90
X 4.c25
Question ID : 630680518242
Option 1 ID : 6306802025366
Option 2 ID : 6306802025365
Option 3 ID : 6306802025367
Option 4 ID : 6306802025364
Status : Answered

Chosen Option :

1




Ans

______ rule explains that if the direction of the field and that of the current are

mutually perpendicular to each other, then the force acting on the conductor will be

perpendicular to both.

< 1.Right hand thumb rule

5 2. Ampere's rule

&" 3. Fleming’s left-hand rule

X 4.0hm's law

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option4 1D :

Status :
Chosen Option :

630680518235
6306802025336
6306802025339
6306802025337
6306802025338
Answered

3

Q.9 3w gIsgihra ford Geh a1 S1fdeh Sy deF gla g, ______

Ans

X 1. 7=erEs
X 2. grsgiehrea
o 3. I

X 4. gz

HEATA &

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option :

630680518238
6306802025351
6306802025348
6306802025349
6306802025350
Not Answered

Q.10 frepraand} wed d, Agsal &

Ans

X 1w
o 2. RIGSH
X 3. Sftarg
X 4. arftar

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option4 1D :
Status :
Chosen Option :

630680518243
6306802025368
6306802025369
6306802025371
6306802025370
Answered

2




Q.11 fr=fef@a 7 & i @re sfaer o fAmfor @war 82
Ans X 1.7, 3 SR GO

o 2. 919, IR 3R SO

X 3. 78, I 3R AR

X 4. 9/, aee 3R RS

Question ID : 630680518246
Option 11D : 6306802025380
Option 21D : 6306802025381
Option 31D : 6306802025382
Option 4 ID : 6306802025383
Status : Answered
Chosen Option : 2
Q.12 f=fafEad 9 = fada aft TR w @2
Ans X 1.@UYS
o 2. AMHERY
X 3. 92 AR
X 4. Y AiEERt
Question ID : 630680518244
Option 11D : 6306802025375
Option 2 ID : 6306802025374
Option 31D : 6306802025372
Option 4 ID : 6306802025373
Status : Answered
Chosen Option : 2
Q.13 guehim @ g A g foed ______ g 8l
Ans X 1. %ga gfkHmor
25 2.7 &= 7 uRmTor
o 3. e ofR uReror g=f
X 4. %aa fear
Question ID : 630680518232
Option 11D : 6306802025325
Option 2 ID : 6306802025327
Option 31D : 6306802025326
Option 4 ID : 6306802025324
Status : Answered

Chosen Option :

1




Q.14 The wire in the main supply of a house, usually with a red insulation cover, is called

Ans X 1. Neutral wire

75 2. Negative wire

/5 3. Haywire
o 4. Live wire
Question ID : 630680518233
Option 11D : 6306802025330
Option 21D : 6306802025328
Option 3 ID : 6306802025331
Option 4 ID : 6306802025329
Status : Answered
Chosen Option : 4
Q.15 fa=fafaad @ frg aarafaes suain A sieia wa & @@ d =1e fear @2
Ans o 1. TARIGISRY hre
X 2. fAumEe TgeRiviss
X 3. e SETES
X 4. gEgiaTea
Question ID : 630680518245
Option 11D : 6306802025376
Option 2 ID : 6306802025377
Option 31D : 6306802025378
Option 4 ID : 6306802025379
Status : Answered
Chosen Option : 1
Q.16 gEF & ______ 9 Goh GO i Uferehfva ahed &1
Ans X 1.3
o 2. TN
X 3. fawda
X 4. f9=
Question ID : 630680518231
Option 11D : 6306802025323
Option 2 ID : 6306802025320
Option 31D : 6306802025322
Option 4 1D : 6306802025321
Status : Answered
Chosen Option : 2




Q.17 What is the suffix for an aldehyde?

Ans X 1.one
X 2.ene
X 3.0l
o 4. al
Question ID : 630680518237
Option 11D : 6306802025347
Option 2 ID : 6306802025346
Option 3 ID : 6306802025345
Option 4 ID : 6306802025344
Status : Answered
Chosen Option : 4
Q.18 faega warg wenfaa &=t areft ufv=nferenT o1 gadha &= ______ & AT glar 81
Ans X 1.9 9%
o 2. e Sl ugh
25 3. e yaTgdhIg aR
X 4. TR Higd
Question ID : 630680518234
Option 11D : 6306802025335
Option 2 ID : 6306802025332
Option 3 ID : 6306802025334
Option 4 ID : 6306802025333
Status : Not Answered
Chosen Option : --

Section : Domain Knowledge

Q.1

Ans

X1 P
X2 whUT

X 3 0 e

v o

FFafiE # ¥ fFE TURIOT & ST IURIUT F Fad PRI B A FS & o GRar Fmar &

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option :

630680518308
6306802025628
6306802025631
6306802025630
6306802025629
Answered

4




Q.2

“RRdr 3 ot e # = fred S i waw & ofiaes &2 I3 & Tae & auEe 3k S ot wmrd

& JIUAT & 9 & AR & FAGUE D 17 FH FUT F % T4 H FA ST L
Ans
X 1. I-gETs o TasE
X2 zZreed & HOA
X 3 T @ TEcarmuor & s
v+ =gga & Maeea s
Question ID : 630680518281
Option 1 ID : 6306802025523
Option 2 ID : 6306802025522
Option 3.ID : 6306802025520
Option 4 ID : 6306802025521
Status : Answered
Chosen Option : 4
Q3 ==y Hr gz e T i B DA IR e K # Ram ¥
Ans &
X . UL g &Y & BT
X 2. f&=re 91T YU F FET
v 3. fF=rem ST g1y &7 ST
X 4 UL 9T &Y FT P
Question ID : 630680518255
Option 1 ID : 6306802025417
Option 2 ID : 6306802025418
Option 3 ID : 6306802025416
Option 4 ID : 6306802025419
Status : Answered
Chosen Option : 3




Q.4  firdr 7l & FeA & TUSIT FT AT F Oy # Pt & ¥ ol o wua T8 i

Ans

I I wae & Tl e & 8 Susor @ A%a Her S "l B

II. Teh SUHTUT Y Thel AT T Hehell & TS aeTer ATh Baea & i @ 351 §

X1 &hdel 11
X2 Fael 1
3 1 JAT 11 et
Xegmglarar I

Question ID : 630680518297
Option 11D : 6306802025585
Option 2 ID.: 6306802025584
Option 31D : 6306802025586
Option 4 ID : 6306802025587
Status : Answered
Chosen Option : 3
Q.5
F B TH.IE. THE B T (J) FE AT
1 3 = N-m
Ans  X'1.100
< 2. 1000
W 3.1
X410
Question ID : 630680518274
Option 11D : 6306802025494
Option 2 ID : 6306802025495
Option 3 ID : 6306802025492
Option 4 ID : 6306802025493
Status : Answered
Chosen Option : 3
Q.6 fafFToh-ZTa TUETETT F BT FEra-aeeade s & meior F=m ¥ (T Ot aeE § o T
dieesaie FEWTE ¥, A T3 VaTE U¥ & IEEEY-He @ 87 §)
Ans X 1. q = A ,D—T3
X2q=AdT
X3 .q = A oT?
v4q= A oT?
Question ID : 630680518282
Option 11D : 6306802025527
Option 2 ID : 6306802025526
Option 3 ID : 6306802025525
Option 4 ID : 6306802025524
Status : Not Answered

Chosen Option :




Q.7 is the deviation of measurement from the nominal dimension determined at any optional point of the measuring
range in a micrometer.

Ans X 1. slip

/< 2. Thimble
X 3. Backlash
« 4 Cummulative Error

Question ID : 630680518267
Option 11D : 6306802025466
Option 2 ID : 6306802025467
Option 3 ID : 6306802025464
Option 4 ID : 6306802025465
Status : Answered
Chosen Option: 4
Q8 gonferat @ anfw GETEEr # FwE A L IR saE gae 2l
Ans 1. Oded
X 2. FEUHAT
X 3. HOAd
o 4. dTdHT
Question ID : 630680518284
Option 11D : 6306802025533
Option 21D : 6306802025532
Option 3 ID : 6306802025535
Option 4 ID : 6306802025534
Status : Answered
Chosen Option : 4
Q.9 wuE 70T F vEd F gay ¥ SR & ¥ #lF O euF e i
1. HIHI @I FTHEA ¥ Fed & o0, Feq & SURIUT aehdry & A & HRek $SIT gl = e
1. e & SUSToT & AT UT TEaT § T@T ST =T
Ans :
¢ 1 FUT 11 gt
Xeagr@lan & I
X3 ad I
X4 el 1
Question ID : 630680518290
Option 1 ID : 6306802025558
Option 2 ID : 6306802025559
Option 3 ID : 6306802025557
Option 4 ID : 6306802025556
Status : Answered
Chosen Option : 4




10 PrmffRe & @ o9 @ I U & 7y & JUR | &F FE & aE E

Ans x 1. W'W

X2 Rufaer s
X 3. TTelhed

v 4 TS Fe

Question ID : 630680518277
Option 1 ID : 6306802025507
Option 2 ID : 6306802025504
Option 3 ID : 6306802025506
Option 4 ID : 6306802025505
Status : Answered
Chosen Qption : 4
Q.11 What is the size of B1' drawing board (in mm.) recommended by the Indian Standards Institution?
Ans X 1..500 = 700
X 2200 % 300
o 3700 = 1000
A 41000 = 1500
Question ID : 630680518249
Option 1 ID : 6306802025394
Option 2 ID : 6306802025395
Option 3 ID : 6306802025393
Option 4 ID : 6306802025392
Status : Answered
Chosen Option : 3
Q.12 foreh swefer & sweor F Soer & wOw F, ofy weer F AU aga ¥ 31 sumToT & T FH
FE & B g & e & owd e g wed §
Ans
X 1. Iz, FIR
x 2. foFa, gerasA
X3 f&FT, FeR
o 4. ST, JJMHI:H
Question ID : 630680518286
Option 11D : 6306802025541
Option 2 ID : 6306802025542
Option 3 ID : 6306802025543
Option 4 ID : 6306802025540
Status : Answered
Chosen Option : 4




Q13 What is the unit of Thermal Diffusivity?

Al
ns o 1. mz_;s
X2 m3s
X 3. mz_s
X< 4 m/s
Question ID : 630680518283
Option 11D : 6306802025529
Option 2 1D : 6306802025531
Option 31D : 6306802025530
Option 4 ID : 6306802025528
Status: Not Answered
Chosen Option : --
Q.14
s B F foeafofa & @ #iF 31 sueor gaufar & &2
Ans

X 1. TF TR
X2 T Fel

v 3 afaay S
X 4 HATSHIAET

Question ID :
: 6306802025607
: 6306802025605
: 6306802025606
: 6306802025604

Status :
Chosen Option :

Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

630680518302

Answered
3




Q.15 z=T @ 7 &t aenar o1 Fean & 3R & & 7 R o g ¥ S8 e Te w0 @ gEy w0 H
ufafaa frar =1 gar &1 Reaatem § @ F9 @ e/ fww 5w Fua @ gafg &2

Ans
X 1. greee &1 TR
X2 iR & fraa
V5 e gIeoT @ e
X 4 ZEOATT BIEUT & [BETT
Question ID : 630680518278
Option 11D : 6306802025511
Option 2 1D : 6306802025510
Option 3 ID : 6306802025508
Option 4 ID.;: 6306802025509
Status : Answered
Chosen Option : 3
Q.16 Fefiedt Fr Ty & Faw & G For o g & o I F ofada & X F =0 d iR
feram =TT &)
Ans 1 aoT
X 2. faFuTaer
73 A
X 4 SAScd
Question ID : 630680518296
Option 11D : 6306802025580
Option 21D : 6306802025581
Option 31D : 6306802025582
Option 41D : 6306802025583
Status : Answered
Chosen Option : 1
Q.17 Which of the following lathe machine part is mounted on the saddle and moves crosswise the bed by hand or by means
of power feed?
Ans X 1. Compound Rest
X 2. Tool Post
+ 3. Cross Slide
Z 4. Apron
Question ID : 630680518295
Option 11D : 6306802025579
Option 2 ID : 6306802025576
Option 31D : 6306802025578
Option 41D : 6306802025577
Status : Answered
Chosen Option : 3




Q18 Py T ST F Ty F ettty § ¥ T o sy o i
1. % faffes Ae’ & TT wF & TE g # A4 E
B e e e -
e xra@ia @

X2 haer 11
X3 hael 1
<4 1 gUT 11 arar
Question.ID : 630680518306
Option 11D : 6306802025623
Option 2 ID : 6306802025621
Option 3 1D : 6306802025620
Option 4 ID : 6306802025622
Status : Answered
Chosen Option : 4
Q.19 gEor symwolt & Tay H, gE-a% W gR-UW @ frow weer & O Heafafe # @ e suswr @
g RRaT ST §2
Ans X1 T@8
X2 feem gEe OF
X 3. ZargET
v 4 grear e
Question ID : 630680518253
Option 1 ID : 6306802025408
Option 21D : 6306802025411
Option 31D : 6306802025410
Option 41D : 6306802025409
Status : Answered
Chosen Option : 4
Q.20 Which of the following lathe machine part provides the mechanism of rotating the work at multiple speeds along with
driving and altering the spindle speed?
Ans X 1. Tail Stock
X 2. Tool Post
X 3. Bed
« 4 Head Stock
Question ID : 630680518291
Option 11D : 6306802025561
Option 2 1D : 6306802025562
Option 31D : 6306802025563
Option 41D : 6306802025560
Status : Answered
Chosen Option : 2




Q.21 Fsher & mmemw & B T o7 o F =5 oo fay ww &= & B fre siaee o suae R

T g7
Ans

v sfafogor

X 1. QETHER TG

X 5. e

X 4 Headisa
Question ID : 630680518293
Option 11D : 6306802025571
Option 2 ID : 6306802025568
Option 3 ID : 6306802025570
Option 41D : 6306802025569

Status : Answered
Chosen Option : 2
Q.22 frafafea & ¥ FiF @7 SUFT ITT O W Al A S AT & oI, Wi A me s e
0.01 Tl & Gdterar g& AU & Tor sudier fRar smar &0
e X T e
2. ATShIATET

X 3. ot

X4 TBeg o
Question ID : 630680518266
Option 11D : 6306802025463
Option 2 ID : 6306802025462
Option 3 ID : 6306802025460
Option 41D : 6306802025461

Status : Answered
Chosen Option : 2




Q.23

o B § Geaafa & @ #iF 97 susor gfar aar &2

Ans X1~ a

X2 wRUT

3 e

X4 IS
Question ID : 630680518305
Option 11D : 6306802025619
Option 21D : 6306802025618
Option 3 ID : 6306802025617
Option 4 ID : 6306802025616

Status : Answered
Chosen Option : 2
.24 ¢
24 g 3T go Fr e F T g & qUEES F FT AT FM@T &2
Ans 1. fI

X 2 3qTeraT

X3 g

A4 T
Question ID : 630680518273
Option 11D : 6306802025490
Option 21D : 6306802025491
Option 3 1D : 6306802025489
Option 41D : 6306802025488

Status : Answered

Chosen Option :

1




Q.25 frmfafem # ¥ fFF sTFT0T o SUAT URT F OF SO °7 @ & o R smar §e

Ans XT% ~
v f=

X 3. TEATEU
X 4. OTEH
Question ID : 630680518300
Option 11D : 6306802025596
Option 2 ID : 6306802025597
Option 31D : 6306802025598
Option 4 ID : 6306802025599
Status : Answered
Chosen Option : 2
Q.26 ¥t za (semciemse) & TARE Teca @ AE & B Peetafed & & fFg sumor @ suer e
ST &7
Ans x
1. BRUT
X 2. Eprafex
v 3. grEgiEeT
Ko TR A
Question ID : 630680518307
Option 11D : 6306802025626
Option 21D : 6306802025624
Option 31D : 6306802025625
Option 4 ID : 6306802025627
Status : Answered
Chosen Option : 3
Q.27 fye=tafea & @ fFE SUST & 33T =g IR st it A & o & AT o e & uar
e AT uEfia o &
Ans x 1. ﬁ a ﬁ
v 2 gaaT
73 TrHgHATdY
X 4 HATSHIAET
Question ID : 630680518269
Option 11D : 6306802025473
Option 2 ID : 6306802025472
Option 3 ID : 6306802025474
Option 4 ID : 6306802025475
Status : Answered
Chosen Option : 4




Q28 The '6H' grade of pencil used in engineering drawing is

Ans

« 1. extremely hard

X 2. medium

X 3. very soft
X 4. moderately soft
Question ID : 630680518252
Option 1 ID : 6306802025407
Option 2 ID : 6306802025406
Option 3 ID : 6306802025404
Option 4 ID : 6306802025405
Status : Answered
Chosen Option : 2
Q.29 —_M_M
Which type of line is shown in the above figure used in engineering drawing?
Ans X 1. Continuous thin
X 2. Chain thin
X 3. Dashed thin
« 4. Continuous thin with zigzags
Question ID : 630680518257
Option 1 ID : 6306802025424
Option 2 ID : 6306802025426
Option 3 ID : 6306802025425
Option 4 ID : 6306802025427
Status : Answered
Chosen Option : 4
Q.30 o wemaiRor H & @ FAET X k4 T AT geiEn e ¥ S e F R s s @
& &7 I ST S E|
Ans
v . {RIT FHFIOT
X 2. GieeAAT HHEHIOT
X3 NTBEET & THRIOT
X 4 htel &l FHIHLOT
Question ID : 630680518280
Option 1 ID : 6306802025517
Option 2 ID : 6306802025518
Option 3 ID : 6306802025519
Option 4 ID : 6306802025516
Status : Not Answered
Chosen Option : --




Q.31 What is the minimum distance that can be measured by a vernier caliper or a micrometer accurately?

Ans

X 1. Gauge Factor

X 2. Vernier Constant
X 3. Wringing

« 4. Least Count

Question ID : 630680518270
Option 11D : 6306802025478
Option 2 ID : 6306802025477
Option 3 ID : 6306802025476
Option 4 ID : 6306802025479
Status : Answered
Chosen Option: 4
Q.32 ¢
fTafea & o oiF & ofdr &1F & Frag &2
Ans .
X1 g
X 2. FBcA
v 3 21
X 4 T
Question ID : 630680518275
Option 11D : 6306802025497
Option 2 ID : 6306802025498
Option 31D : 6306802025499
Option 4 ID : 6306802025496
Status : Answered
Chosen Option : 3
Q.33
"TFT 3uHRIoT forges form sogn® &2
Ans 5 5
v @ 3T dec H FEa AR Ser =g & o
X2 &g o & fom
X 3. grAell @ 90° UT i & form
X 4 gRUTE F UFsd & o
Question ID : 630680518301
Option 11D : 6306802025600
Option 2 ID : 6306802025601
Option 3 ID : 6306802025603
Option 4 ID : 6306802025602
Status : Answered

Chosen Option :

1




Q.34 T aeha & oioe sET &, o R S smwea Rt A PR TR A A F T @ @

Ans

3 e

XTE{T
X2 HIS
3 =T
X4 BE

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option4 1D :

Status:
Chosen Option :

630680518288
6306802025548
6306802025551
6306802025549
6306802025550
Not Answered

03 me ffey e & werer & @F & AT T F TEIAE. FHEE FA L2

Ans

X1, rq_EH
v 7 e
X3 g
X 4 Fergere
Question ID : 630680518263
Option 11D : 6306802025451
Option 2 ID : 6306802025449
Option 3 ID : 6306802025448
Option 4 ID : 6306802025450
Status : Answered
Chosen Option : 2
Q.36 e T wad, W 3R AU Y S T TureE S THT aFNE H FEA Uhsa & o
Feafafag & ¥ fFE Suwtor @& suaT fea SmEr Ee
Ans X 1. TRTEST
X 2. gaitar
v 3 aEH
X 4 FABW
Question ID : 630680518299
Option 11D : 6306802025592
Option 2 ID : 6306802025593
Option 3 ID : 6306802025595
Option 4 ID : 6306802025594
Status : Answered
Chosen Option : 3




Q.37 mewfefya & @ fFE sueor & Uz =l 3R gEt & eREe Ak weET daEe e o faw Rear

Ans

ST &2

v 1. fBamsst
X2 TNTRIUGE T
73 e w

7 T AT

Question ID : 630680518265
Option 1 ID : 6306802025456
Option 2 ID : 6306802025457
Option 3 ID : 6306802025458
Option 4 ID: 6306802025459
Status : Answered
Chosen Option : 1
Q.38 firdh mefe & Fed & IUSIOT ¥ tanfies fwuUer F wOv F Reefatte # ¥ o @ oug '
L 3= dUAE AT Acaiter wifis SfEe & FRUT SUT F TR T @ S 8l
II. TomiEes FawUuT & HIUT SURIOT B GIeer $f &THaT (TawT TEuar) fr afer & gwar &
e X1 Fae I
Xeargi1ar&
X3 had 1
4 1 gAm 1 a&ar
Question ID : 630680518285
Option 1 ID : 6306802025536
Option 2 ID : 6306802025539
Option 3 ID : 6306802025537
Option 4 ID : 6306802025538
Status : Answered
Chosen Option : 4
Q.39 Rvus B (3R.TE.) T IRE EuT & 3 Red gEa & e @ e aeg & aeae e
¥ US| FH HR.UG. I sHE FT 7
Ans
v g Ied Tl
X2 g2
X3 g,
X4 g3
Question ID : 630680518259
Option 1 ID : 6306802025435
Option 2 ID : 6306802025433
Option 3 ID : 6306802025432
Option 4 ID : 6306802025434
Status : Answered

Chosen Option :

1




W =t Hr s e #F ¥ e of & @A &

Ans

X 1. FHIT ToleRH

X 2. fEjga HTEOT

X3 FAScd HTEOT
4

Question ID : 630680518276
Option 11D : 6306802025501
Option 2 1D : 6306802025500
Option 3.ID : 6306802025503
Option 4 ID : 6306802025502
Status : Answered
Chosen Option : 4
Q.41 Which of the following statements is correct regarding the ‘Elements of Dimensioning’ used in engineering drawing?
L The elements of dimensioning include projection line, dimension line.
II. The elements of dimensioning include leader line.
Ans 1. BothTand II
X 2 OnlyII
X 3. Neither I nor II
X 4 OnlyI
Question ID : 630680518258
Option 11D : 6306802025430
Option 2 ID : 6306802025429
Option 3 ID : 6306802025431
Option 4 ID : 6306802025428
Status : Answered
Chosen Option : 1
Q.42 wWhich device converts energy from one form to another when activated?
Ans X 1. Comparator
X 2. Caliper
X 3. Potentiometer
« 4 Transducer
Question ID : 630680518271
Option 11D : 6306802025482
Option 2 ID : 6306802025481
Option 31D : 6306802025483
Option 4 ID : 6306802025480
Status : Answered
Chosen Option : 4




Q.43 zEw sTET & TG #, de-TaR IR & BT & 3R FAGAR W 0T Tenies & 94 @

£l

Ans X 1. Eﬁﬁ'
X 2 gierg

X 3. HTIATRIRT
v 4 eprofa
Question ID : 630680518250
Option 1 ID : 6306802025399
Option 2 ID : 6306802025396
Option 3 ID : 6306802025397
Option 41D : 6306802025398
Status : Answered
Chosen Option : 4
Q44 Aq giEer o @ R fsam s wme eh & @ d (st < )2
Ans 1. 210 x 297
<2148 x 210
X3 420 x 594
X 4297 x 420
Question ID : 630680518254
Option 1 ID : 6306802025414
Option 2 ID : 6306802025415
Option 3 ID : 6306802025412
Option 4 ID : 6306802025413
Status : Answered
Chosen Option : 1
Q.45 frewfafa # & @9 @1 16 agd & T 3 §, o sun aig e & aea & o fma s
?
s K el
X 2. geFmEl
X 3. TTSoT
v 4 gafter
Question ID : 630680518298
Option 1 ID : 6306802025589
Option 21D : 6306802025591
Option 3 ID : 6306802025590
Option 4 ID : 6306802025588
Status : Answered
Chosen Option : 3




W46 ors B FIT F FET H,

139 = e
Ans X1.0.54
<2 3,54
K3 1.54
w4 2.54
Question ID : 630680518261
Option 11D : 6306802025440
Option 2 ID : 6306802025443
Option 3'ID : 6306802025441
Option 4 ID : 6306802025442
Status : Answered
Chosen Option : 4
Q.47 # ﬂ #
T T FEAH & HGOR, SEare FEer & sumer & F el S o R v fr
HIHGT B FAT T2
Ans w
v e
X2 grger
X3 feg
X 4 HHER
Question ID : 630680518260
Option 11D : 6306802025438
Option 2 ID : 6306802025436
Option 31D : 6306802025437
Option 4 ID : 6306802025439
Status : Answered
Chosen Option : 1
Q.48 FFTofes # @ frg @10 sTetor # 90° & @ioT W & Wl R YA § HR gE sudier segaar hr
S e ¥ B fear s &
A 1. Prer AT
X 2. HATSHIARET
X2 gfaer Hom
o 4 gl FRdTdY
Question ID : 630680518303
Option 11D : 6306802025608
Option 2 ID : 6306802025609
Option 31D : 6306802025610
Option 4 1D : 6306802025611
Status : Answered
Chosen Option : 4




Q.49 The most widely used pressure and force sensitive transducer is the

Ans X 1. slip gauge
X 2. height gauge
X 3. depth Gauge
« 4. strain gauge
Question ID : 630680518268
Option 1 ID : 6306802025470
Option 2 ID : 6306802025468
Option 31D : 6306802025471
Option 4 ID : 6306802025469
Status : Answered
Chosen Option : 4
Q.50 Zehferafier zEer & formsy & Oh & TOw F, weRiea 7€ 3N I O FeRaT § W IR @
TereT &
Ans o 1. 15°
X2 60°
X 3. 45°
X 4. 300
Question ID : 630680518256
Option 1 ID : 6306802025420
Option 2 ID : 6306802025423
Option 3 ID : 6306802025422
Option 4 ID : 6306802025421
Status : Answered
Chosen Option : 2
Q51 o & gt & TEw F ReERRE F AT maE v
L thepr @ B & S QU guE et &
. goaAc Tfd @ §AYe oI § 313eye B & TUEART odl & I &8¢ [udd|
A XK FEe I
X2 Fae 1
5 1 FUT II aEr
Xagm@I1ar & o
Question ID : 630680518289
Option 11D : 6306802025553
Option 2 ID : 6306802025552
Option 3 ID : 6306802025554
Option 4 ID : 6306802025555
Status : Answered
Chosen Option : 3




Q.52 FHud & How #F Relotag § € o @ wuw 7 i

Ans

1. T F IUAT AT F AT & Bw R e € SR ueueT 7 ¥ R O € AT ST HeRaT £

II. T8RT UepR $ellUd & WaRi & & U El

X1 haer I

X2 heet 11
Xea@mTgr Iar &I
v 1 g I gat

Question ID : 630680518264
Option 11D : 6306802025452
Option 21D : 6306802025453
Option 3 ID : 6306802025455
Option 4 ID : 6306802025454
Status : Answered
Chosen Option : 4
Q.53 1 BTU 68°F UT Uil ¥ 1 UTSE-ZEAA @ | ol BReese ¥ @t 2ar &1 BTU # T" @ O FEIETT
T &7
Ans x 1 vE .
v 7 e
X 3. CI$H
K4 Tda
Question ID : 630680518262
Option 11D : 6306802025445
Option 2 ID : 6306802025444
Option 3 ID : 6306802025446
Option 4 ID : 6306802025447
Status : Answered
Chosen Option : 2
Q.54 _- s
TS & AT & HIT H,
1 TIEGIH =
Ans X 1. 10—12
X 2. 1010
o 3. 10_10
X 4. 10_8
Question ID : 630680518272
Option 11D : 6306802025484
Option 2 ID : 6306802025487
Option 3 ID : 6306802025486
Option 4 ID : 6306802025485
Status : Answered

Chosen Option :

1




S AT o deS & B frm o @ suaer R ST i

Ans

X1 AT TF
X2 fafesr m
<3 T O

X4 e I

Question ID : 630680518251
Option 11D : 6306802025403
Option 21D : 6306802025401
Option 3 ID : 6306802025400
Option 4 ID.: 6306802025402
Status : Answered
Chosen Option : 3
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Question ID : 630680518304
Option 11D : 6306802025614
Option 2 ID : 6306802025612
Option 31D : 6306802025615
Option 4 ID : 6306802025613
Status : Answered
Chosen Option : 2
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Question ID : 630680518279
Option 11D : 6306802025515
Option 2 ID : 6306802025514
Option 31D : 6306802025512
Option 4 ID : 6306802025513
Status : Answered
Chosen Option : 4
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Question ID : 630680518287
Option 11D : 6306802025547
Option 2 ID : 6306802025546
Option 3 ID : 6306802025545
Option 4 ID': 6306802025544
Status : Not Answered
Chosen Option : --
Q.59
Which of the following lathe accessory is shown in the above picture?
Ans 1. Chuck
X 2. Dog Carrier
A 3. Mandrel
< 4. Reamer

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option4 1D :

Status :
Chosen Option :

630680518292
6306802025565
6306802025566
6306802025564
6306802025567
Answered

1
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option :

630680518294
6306802025575
6306802025574
6306802025573
6306802025572
Answered

2




